GAMIPRODUCTS, INC.
A division of "=SCO
www.gamonline.com

GAM Product #TS6200FS
Rosco Product #206 36010 0000

SX4® Film/FX Loop Effect
Photo courtesy Kahekili - Maui Arts & Cultural Center

PRODUCT DESCRIPTION

Convert an ETC SOURCE FOUR™ SPOTLIGHT
info a scenic projector or gobo changer. The spotlight
can be used with:

® 575W Incandescent

® 750W Incandescent

o 575W *HMI™

e 150W HID: 12,000 hours lomp life

* Modular inferchangeable components

*HMI™ is the copyright frademark of OSRAM

GmbH, all rights reserved. There are four options for
effects trays that can be used with the SX4® Case:

Loop Tray: Continuous film loop effects

Disc Tray: Round disc effects

Six - Gobo Tray:  Uses Mrsize patterns or Dichroic
Glass GamColors® to make it @
color changer

Four - Gobo Tray:  Holds four B-size patterns or
Dichroic Glass GamColor® filkers

Page 1 of 3

PRODUCT SPECIFICATIONS

Dimensions:

Wide: 11.31in.(28.7 cm.)
Height: 10.625 in. (26.9 cm.)
Deep: Q.5in.(24.1 cm.)
Weight : 6 lbs.,5 oz. (2.84 kgs.)
With Effects Tray: @ lbs.,10 oz. (4.28 kgs.)
Finish: Hitemp matte black paint
Patent: US Patent # 6,926,427

August @, 2005
PRODUCT NUMBER

TS6200 / 206 36000 0000

SX4® Case Only, no tray modules
TS6200WHT / 206 36001 0000

SX4 (white) Case Only, no tray modules
TS6200FS / 206 36010 0000

SX4® + Shutters, Case Only, no tray modules
TS6200FSWHT / 206 36011 0000

SX4 + Shutters (white), Case Only, no tray modules
ZPTSSX-23 / 206 TSSX2 3000

Barrel Top Rear

ZPTSSX-24 / 206 TSSX2 4000

Barrel Bottom Rear

ZPTSSX-50 / 206 TSSX5 0000

ETC Front Top Barrel Casting

ZPTSSX-52 / 206 TSSX5 2000

ETC Front Bottom Barrel Casting

rssScCo

WWW.rosco.com



All dimensions in mm

SX4® - FRONT CASE DIMENSIONS TOP VIEW
— 51.80 —
. 281.30 i o
700 )
75.40
 4.00
156.11
’ T #133.00
2159.58 !
\I
|
|
\
| 287.30
280.70
' 238.70 .
P R 6.00
e
—| l—3.oo I—L SIDE VIEW
SX4® - REAR CASE DIMENSIONS 2130 22.65
; [ 1865
i 281.30 740 . é)_I—_
T
87.23
o| ot
280.70 87.23
280.70
#3.00 o o—
' 238.70 . iy
66.30 . |
12.00
1300

—| |—3.00

1—121.30

Page 2 of 3

SCO

WWW.rosco.com



ACCESSORIES / REPLACEMENT PARTS

ZPTSSX-50 / 206 TSSX5 0000
ZPTSSX-52 / 206 TSSX5 2000
ZPTSSX-22 / 206 TSSX2 2000
ZPTSSX-13 / 206 TSSX1 3000
ZPTSSX-23 / 206 TSSX2 3000
ZPTSSX-24 / 206 TSSX2 4000
ZPTSSX-06 / 206 TSSX0 6000
ZPTSSX-11 / 206 TSSX1 1000
ZPTSSX-09 / 206 TSSX0 9000
10 ZPTSSX-04 / 206 TSSXO 4000
11 ZPTSSX-05 / 206 TSSX0 5000
12 ZPTSSX-20 / 206 TSSX2 0000

VONOCUBAWN=—

ETC Front Top Barrel Castfing
ETC Front Bottom Barrel Casting
10-24 x 3/8" Front & Rear Case/Barrel Screw
8-32 x 5/8" Barrel Screw
Barrel Top Rear

Barrel Bottom Rear

Vent Plate

6-32 x 1/4" Vent Plate Screw
8-32x 5/16" Case Screw
SX4 Left Side Rail LHS

SX4 Right Side Rail RHS
Captive Panel Pin

=) 9

Page 3 of 3

W

SCO

WWW.rosco.com



